
 

Dimensional Analysis

conversionfertsoe unit of
measure to another

Etta Action

67.32 a

67 Z x 2 54 171,688 cm

1710mL
processes

parse the wordproblem
making a drawing
finding the desired
finding the given
finding equalities conversionfactors

Develop a roadmap
filling in knownequalities
finding bridging equalities
writing the equation
Checking the units
Doing the math
Sig figs



A nearby lake holds 2 55,52 water
if a nearby city removes water at a

rate of 3.304 709gallons of water day
how mandsirehours would the water last

gallon Iquart 0.943654

Éday 60min 1 hr

Given unit 2.33 1052 water
Desired unit hours

equalities 3 34 x 109gal I day

I tt Equalities linking units
Is Desiredunit

Lito É qtFYgaltstay h.hr
volume Time
Bridgingequality



writingtheequation
def

2 3 1 ftp ygi ygt
2 33

Egg
15 0.94365 4 3.34

Eq
9 24

413 573 29785 hrs

f4440000hrsat.MX0nrs

x F Agi Age
A x Is X C

A B x C



Roadtad Keys

one way is sequential

given Is a is c desired

The morepowerful skill is to find the

bridge first

given s desired1
I

Vol vol I time time

LHzotskqt gal tidg h.hr
VolSI
II
VolEng

Éite Time

Bridgingequality



3keyeoudi.gg tomem
Length in 2.54cm Exactdefinition

volume Igal 3.785L 4 Sigfigs

mass 1 lbs 453.6 g 4 Sigfigs

Problem 3 of Dimensional AnalysisWorksheet

The distancefromSanta Cruz to SantaBarbara is

280 miles If a car gets 23.6 miles per gallon
and the price of gas is 32

centsper liter how

much will it cost in gas to drive from Santa

Cruz to Santa Barbara

desired dollars cost

given
280 miles

per equality implies relationship
23.6mi I gallon
32cents I Liter



Rodham
ga EY tis

3 4 MEEE def

280mix 1ft 7ft Tff
280 23 6 3.785 32 100 146370169 4915

280 3 SF

280 2 SF

4 85 04gal
4 859

My



ConvertingProblems to images
Temperature Conversions

percents as conversions
cubes Squares

Howmany cubicmeters
of soil are needed to

fill a flowerbox that is 3.5feetlong 8inches wide

and I footdeep

11 1ft
h
m3 volume

w

e

volume lx w x h

e z ft in ÉÉÉÉ m

Jew
m3w 8in cm m

h Ift in om m



2 def def

3.5ft x fix Éx 1.01668m

E
x to

I def def
8 in x x fam 0 20132 m

i def def def
1ft x FI x 454cm x few 0 30148m

1.8668 m x 0.21032m x 0.31048 m 0.0644072642
m3

0.07Mt
3.5ft x 1ft x 8 mx t 2.333ft3

ft's in em m3

Ifan 1ft 123,3
12in

12 1 1 1 13ft 123 in

2 33ft x Én'x m
0.066072642

m3

1 0.0737



I

k absolutescaleI nonegativevalues

214
F 100 C 373.15k

I I
180dix 100did loodix

I
E 32 F

Olc
273.15k

I
valves
negative

273.5g o AbsoluteZero

L
am

oc K exact
12 253 5 29 273.15 12
K E
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Titshift
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Constructingequalitiesfrompercents

Alcohol content 12.5 by volume

I part in 100

12.5mL alcohol 100mL of wine

1 1 1 4 100 12.5

Percent Itotex 100

tmall.EE e
enf owmeaeconam

a solution with a total volume of 537mL

and an alcohol volume of 23.6mL
3

PIFex100 33414 5 1 00 4.314785
3

eL



Howdoweuse percent
Howmany mL of alcohol

would be

in 780mL of wine with a 4.39

by volume alcohol content

4 39 4,301mL
alcohol

mL Wine

or

4 39mLalcohol 100 mL wine

toddy my alcohol

780mL wine x É d
316242 ml alcohol

2

def
34ubalconth

780gal wine x Iggy 34galalcohol



by volume notifier.ggfole


